Stoichiometry Problems 2

1. 4NH3 + 5O2( 4NO + 6H2O 
What mass of NO is produced if 27.5 g of water form?
2. 2NaNO3 + 4H2SO4 + 3Hg ( 3HgSO4 + Na2SO4 + 4H2O + 2NO
30 ml of 0.4 M sulfuric acid was used.
a. What mass of sodium nitrate was used?

b. What mass of water was formed?
3. 3Cu +8HNO3 ( 3Cu(NO3)2 +2NO + 4H2O
80 ml of nitric acid was used, producing 8.1 g of copper nitrate. What was the concentration of the acid?
4. What mass of oxygen is needed to burn 2.1 g of C2H4?
5. What mass of water forms when 7.2 g of C4H10 is burned?

6. Excess calcium chloride reacts with 4.3 g of sodium hydroxide. What mass of calcium hydroxide forms?
7. What mass of oxygen is needed to burn 16 g of C2H6O?

8. Al+ H2SO4 ( Al2(SO4)3 + H2 (unbalanced)
If 200 ml of sulfuric acid consumed 3.1 g of the aluminum, what was the concentration of the acid?

